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1 ROFEZ LRIV,
() 2x+3x

= (2+4+3) x 5x
3) 4x—x
= (4—1) x 3x
(5) 3a+6a—4a
= (34+6—4) a
5a

(7) (5x+4) + (2x—9)

=5x+4+2x—9
= (5+2)x+ (4—9

7x—5
2 WOFHEZE LRI,
(1) 2ax3
=2 X g X 3
= 2 X 3X @ 6 a
3 5x X (—8)
=5x (—8) xx
—40x
(5) 6a—+~2
-0 wnETs
- w73 ° 3a
3 WOFHEZELRIWN,
(1) 3 (2a+4)
=3% 2a+ 3% 4
6a+12
6)(6x+9%+3
= (6x+9) X?
1 1
=6xX?+9X— 2x+3
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2) 5x—8x

= (5—8) x -3 x
4) —3x—7x
=(—-383—-7)x —10x
6) 2a+9+4a—5
= (24+4)a+9—5
6a+4
8 (7x+6) — (3x+2)
=(7x+6) + (=3 x—2)
=7x+6—3x—2
=(7—3)x+ (6—2) 4 x+4
1
2) —x X 10
12
= 3 10 5Xx
= ;— 1 O x
4 —4ax (—6)
=—4X%x (—6) xXa
24 a
6) 8x—+ (—4)
8x
—_ —— “\/\
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2) —2 (x—5)
=—2xx+ (—2) x (=5)
—2x+10
4 (10x—15) = (—5)
1
= (10x—15) (_E)
1 1
=10x X (_E)+(_15)X (—E) —2x+3




